$
&
5
S
St
>.
O
o
S
%t
St
=
I
=

[t | [ABR—4t 3k (2 —FEH)
%‘1"[‘5 "ll'a\\ﬁ
8 NS
S 53k
IR
[EERER GERER) Bk
%ﬁ [BErE
O/
1~4 ARMERAERIESH
5~9
10~14 [BHEAE
15~19
20~24 ARMERAPERITSE
25~29
30~34 [BmEsE
35~39
40~44 ARMERAERIZTSE
45~49
50~54 [BmI5E
55~59
60~64 ARMERAPERITSE
65~69
70~74 [EZEoERE
75~79
80~84 gk
85~89 b
90m L —ReEA
65 LI L (Fi8) BRI ERET
70 L (FB18)
75 LI L (Fi8) [BEDIELE
XMBIE, FEERT, -
[EEREHRs (0EFER Jale
IR ER
“w RRLERR
0~45% fEI%IRIER
5~14 BERK
15~24 BERRK (ERRRERARKRK)
25~34 BERRK (N ERIRERARBRK)
35~44 —hRIR R (JR0R)
45~54 — R’
55~64 BERK
65~74 BERRK (ERRRERARKRK)
75 E BERRK (N ERIRERARBRK)
65m L L (F18) — %R R (— AR E2 AR FT)
70 Ll E (B8) KERBBRAER
XML, FEERT, MABRDH,
ESET
AR RE 125 HB
MEEEFBDH,

XEEIF, FHEEC,



